2 RHINO-RACK

VA-FK1

Item | Component Name | Qty i:::t
1 M6 Nut 24x24mm 2 N068
2 | Adapter Block 2 M154
RCP Leg 3000 32x 3
2 W037
3 Square Washer Mech 03
4 M6 Spring Washer 2 WO004
5 M6x35 Hex Setscrew 2 B203

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

C@RO%LED

3

2 RHINO-RACK

i'}’y
VA-FK1
Item | Component Name | Qty :a:)rt
1 M6 Nut 24x24mm 2 NO68
2 Adapter Block 2 M154
RCP Leg 3000 32x 3
3 2 W037
Square Washer Mech
4 M6 Spring Washer 2 WO004
5 M6x35 Hex Setscrew 2 B203

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

&@

e

C@OIT!_ED

Issue: 02 Document No: R403 Prepared: Kayle Everett Issue: 02 Document No: R403 Prepared: Kayle Everett
N=2/ [ Q= [ (7 A B I =S 71 1 = |
%4 RHINO-RACK| RO L50] ] RHINO-RACK|C@EROLLED
Y { ) Y { 1.
VA-FK1 VA-FK1
Iltem Component Name Qty i:::t Item Component Name Qty ':la:
1 M6 Nut 24x24mm 2 NO68 1 M6 Nut 24x24mm 2 N068
2 | Adapter Block 2 M154 2 | Adapter Block 2 M154
RCP Leg 3000 32x 3 RCP Leg 3000 32x 3
2 WO037 3 2 WO037
3 Square Washer Mech 03 Square Washer Mech
4 | M6 Spring Washer 2 W004 4 | M6 Spring Washer 2 W004
5 M6x35 Hex Setscrew 2 B203 5 M6x35 Hex Setscrew 2 B203

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

Issue: 02 Document No: R403 Prepared: Kayle Everett Issue: 02 Document No: R403 Prepared: Kayle Everett
=2/ S/ N2/ S/
gt RHINO-RACK|CARLLE0 | ) RHINO-RACK| CEROL P
S/ ) S/l 1.
VA-FK1 VA-FK1
ltem Component Name Qty Psz:t Item Component Name Qty I:laort
1 M6 Nut 24x24mm 2 NO68 1 M6 Nut 24x24mm 2 NO68
2 Adapter Block 2 M154 2 Adapter Block 2 M154
RCP Leg 3000 32x 3 RCP Leg 3000 32x 3
2 WO037 3 2 Wo037
3 Square Washer Mech 03 Square Washer Mech
4 | M6 Spring Washer 2 WO004 4 | M6 Spring Washer 2 W004
5 M6x35 Hex Setscrew 2 B203 5 M6x35 Hex Setscrew 2 B203

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

*Note:
RL Kit parts are sold separately.

Tools Required:
10mm Wrench

Issue: 02 Document No: R403

Prepared: Kayle Everett

Issue: 02 Document No: R403

Prepared: Kayle Everett



rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled




